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2 1 1 X 2
A=(1 0 1), x=<y>, b=<1>t’d’6t§, UTICEZ L.
1 1 2 z -1

(1) A OiF5IXNERD L.
(2) A DHEFTHIERD L.

(3) A DHFTHNEAVTEILI—RHER Ax=b OBERD L.

UTOMEICEZ L.

(1) B% y= (3 +2x+3)(x% +2) OEEAHERD L.

(2) BA%K y = cos (x? —2x) DEFAKERD L.

(3) BAEK z=cos (—x3y? +y) D x SBT3 RMA ERD L.

(4) ATOTREED» KD L.
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BA%u(x, y)Ic2WTx =rcosh, y =rsinf & T HHf, Z—Z%i()“g—;%u, r, 0 CTHRHE.

(D)6 (2)IcEA L.

(1) ATOXHKYILDZ ¥ AL L.

(cos@ + isin@)™ = cosnb + isinnd

(2) z=1+iD8F, z°%RD L.
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REFITINNEZERAEFIL,

&'11 = |g ; = —1’ dlz = —|1 ;| = —1, 5113 = |1 2| = 1;

R
C~131=|é 1=1)d32=_i 1=_1)d33=i é=_1

ATl = =—(-1 3 -1]=zl1 -3
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(1)

y' = (Bx?+2)(x? +2) + (x3 + 2x + 3)(2x)
= (3x* +2x% + 6x2 +4) + (2x* + 4x? + 6x)
=5x*+12x2+ 6x + 4

(2)
u=x%-2x £6<
, . du

y'=—sinu_~

= — sin(x2 - Zx) -(2x—-2)

= —(2x — 2) sin(x? — 2x)
(3)
0z - 3.2 2.,2
o = Sin(=x"y® 4+ y) - (=3x7y7)

= 3x%y?sin(—x3y? + y)
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yTﬁMﬁL12y=2ré J:')'C£=r81rn =sin@

y=xtan 0 Ex TS L TO =tanb + — 90 J:_)T%:_sine

cos2 6 9x r
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(1) EFeVEpiidLYy

(n = 1087 5T Y 3L
(i) n=kDRFERXHIKY IO LIRET S L
(cosO + isinf)* = coskb + isin kb
(cos@ +isin@)**! = (cos @ + i sin0)(cos kO + i sin k)
= cos 6 cos kB — sin 0 sin kB + i(sin O cos k6 + cos O sin kB)
= cos(k + 1)0 + isin(k + 1)6
¥RY, n=k+ 10DBHKRY I,

(2) z=1+iD8, &R L.

1 1 T T
z +1i \/— \/E+\/§L \/_(COS4+lSII’14)

z6 = {\/E(cos%+ isin%)}6 = 8(cos 6% +i sin6g) = —8i



